MatwuMazic
{ALGETBRA
“Thorsds
3 July 194
2
A athgmatical tables 6a
lquuull paper previded
UNIVERSITIES OF MANCHESTER, LIVERPOOL,
LEEDS, SHEFFIELD AND BIRMINGHAM.

SCBOOL CERTIFICATE EXAMINATION.
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Answer ALL questions ic Section A and any THREE
quastions from Bection B.

In Questions 1, 2 and 3 a candidale need not write
down more of his working than he finds it convenient
to do; in all other questions full explanations and all
necessary delails of working are required.

Seotion A.
A1l (a) Add together a+5b, 2a-b, and 30;
subtract the result from 7a - 4b.
{b) Multiply 22 +4a -3 by z - 2.

() Itz =k —lc express ¢ in terros of x and &,

(@) In your answer-book write down the
follewing and fill up the hlanks inside the empiy
brackets :

o 2-t51.
(i) p-grr=p-( ).
(i) gj_:;'.L)



o 2
A R. {a) Paclorise o' - e + 2ab - 2hc.
(b} Pactoriss y' - 4y +4 - 427
() It zm =5 satinfies 2 -3 -3(ksel)=d,

{d) Solve & - 21 -15=0.

A 3. (a) What must be sdded to 36’ - 187 to
make it & perfect square

L} "!13,'—,;—“‘ =n” find pin termeof zand .
(? Find the number whose logarithm is
equal to 11602 - 2-6248,
{3} Expren with raticoal denombiater
¢ o
V3-v2

AL U 2s-3y) iz +8)=liz vy), find the
uluao(:—:;ly.

A5 My electrio light chargs per quarter is &
fixed sum ¢ shillings, plus b pence per unit used,
When 1 used 100 units the charge was 11a M.
When [ used 240 onits the charge wan £1,

Find o and b.

A 8. Bolve the simnitaneous equations
£ exy- b= -9
layts
A 7. Find tho values of 4, B, C for which
2 dceSud (z-1) z-2+B -+
for all values of 2,

3

Secriox B,
Answir THRER questions in Section B,
B 8. Solve correct to {wo dociroal places
2 3
£-1 722 24T
B9, Draw the graph y =25 ex - §, {aking 1 in,
as unit for both = and v, and plotting points at
| intervals fromx = -2 o x =),
With the same seale and nxes draw the graph
yeiiz+1).
Fiml the mnge of values of = for which
274z <z 1),

B10. H z=v5+ 3 sud y= 5 - 3, without
using {ables find the valuee of ()} 2y, (i) 22+,
R

B1i. In a trapezium one of the perallel sides
is four timet the other and the non-parallal sidea
are equal. The porimodar is 20 in. and \w dinlance
between Lhe parallel sides is 4 in.

Find the leogths of the sides.

[Brery atep in your caleulation must be clearly
wn.]

B12 I :-Jg, evaluate =z, ny accurately
4 (he Gables permit, when ] = 19-6, b= 0037,y = 4236,

Prom the original farmyla express t in terms of
the othor letters. [No (urther caleulutions are
required.)



